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EE/PRRKEDI1EFLEL 74.1 % T, SIERBICER 7.6 RAUMELE>TWET,

“ SHICEEZDREMEIL 31,245 F TRIERAAL 83.2 wIZi->TWVET,

(1)NEREHE (B b))
X %» 6 F 5 & B *F BT 4E R HA EE
T & N E 1,541 1,292 119.2%
T B KE 29,076 35,587 81.7%
T @ KA KXKZE - -
T & #§ % - -
E — L K # 2 4 48.6%
B F B % 626 665 94.1%
a it 31,245 37,549 83.2%
(2)FfhiLE (BA{3: %)
X 4 6 F E 5 & @E
1 % 2 % EF5nE | REN 1 % 2 % Z50E | RESN
T & N E 64.2 33.3 2.6 58.7 39.3 2.0
T BN KE 74.1 6.6 19.3 81.7 5.4 12.9
T B KA KXKZE - - - - - -
I - - - - - -
E — I XK & - - 100.0 - - 100.0
2 RIENREBRERVERLE (B b))
X % m T8 A REH=E|] 1 F 2 F FHNLE | RN =R
T & N EpEBEHIDS 558 46.9% 49.8% 3.3%
PHEMNS 418| 100.0% - -
BE: 242 4.2% 90.3% 5.5%
EHEXIE 250 97.9% - 2.1%
SEDEDL 55 97.5% - 2.5%
WwELEH 8 - 100.0% -
aAhdRaL¥ 1 - - 100.0%
TN 9 4.5% 93.7% 1.9%
T & /K F|ITPAIN—R/D 26,370 74.2% 5.9% 19.9%
FRh5FLH 2,349 84.5% 0.4% 15.1%
S/LX 312 2.0% 94.8% 3.2%
RITANT7AI1N— 7 - 86.2% 13.8%
Z D 37 - 85.3% 14.7%
T & KM KZE -
T & #§ % -
E — L K Z|&0h 2 -|  100.0%
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EB R X EH

SHOEEZDREREIL 954 FTRIERIKALE 100.1 %BIZHE->TULVET,

(1)NEREHE (B b))
X & 6 F E 5 & & XTI L R HA LE
T & N E 598 496 120.4%
T B KE 356 456 78.0%
T @ KA KXKZE - -
T & ® = - -
E — L K & - -
B F B % - -
a it 954 953 100.1%
(2)FfhiLE (BA{3: %)
X 4 6 F E 5 & @E
1 % 2 % EF5 L | RS 1 % 2 & 5L | FHiEs
T & N E 13.4 84.0 2.6 - 98.4 1.6
T BN KE 1.7 94.6 3.7 - 98.9 1.1
T B KA KXKZE - - - - - -
T &8 KR =% - - - - - -
E — JIL K % - - - - - -
2 RIENREBRERVERLE (B b))
X % m T8 A REH=E|] 1 F 2 F FHNLE | RN =R
T & N EpEBEHIDS 347 20.2% 79.1% 0.6%
BEES 242 4.2% 90.3% 5.5%
LD 8 -|  100.0% -
ZDHh 0 -  100.0% -
T &/ H K EIS/LY 312 2.0% 94.8% 3.2%
FRh5FLH 9 - 97.3% 2.7%
Z D 35 - 91.5% 8.5%
T & KA K ZE -
E & ®8 = -
E — JIL XK &
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1B & @R ,
“ SHEEZDREHEIL 11,631 F THIERHAL 86.7 BIZHEH>TWVET, “

EE/PRRKEDI1EFLEL 78.1 % T, SIERBICER 85 RAUMELE>TWET,

(1)NEREHE (B ko)
X % 6 F E 5 % & *F BT 4E R HA EE
T & N E 122 76 160.3%
@R KE 11,219 13,044 86.0%
T @ KA KXKZE - -
T & #§ % - -
E — L K # 2 4 48.6%
B F B % 289 286 101.0%
& £t 11,631 13,411 86.7%
(2)FfhiLE (BA{3: %)
X 4 6 F E 5 & @E
1 % 2 % | E5E | BEA | 1 = 2 % | 5L | B
T & N E 97.7 - 2.3 96.7 - 3.3
@K E 78.1 0.1 21.8 86.6 0.4 13.0
T B KA KXKZE - - - - - -
I - - - - - -
E — I XK & = -|  100.0 - - 100.0
2 RIENREBRERVERLE (BT ko)
X % m T8 A REH=E|] 1 F 2 F FHNLE | RN =R
T & N EpEBEHIDS 67 97.8% - 2.2%
SEDEDL 55 97.5% - 2.5%
TN - - - -
T & /KK FB|ITPAIN—R/D 11,216 78.1% 0.1% 21.8%
Z D 3 - - 100.0%
T & KA K E -
T & #§ % -
E — L K ZE|FO 2 -|  100.0%
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1B & @R ,
“ SHIEEZDREMEIL 6,080 F> TRTERHALE 94.5 WIZlE->TLVET, “

TE/PRREDI1ELEL 51.4 % T, SIERBICER 1.5 RAUMELGE>TWET,

(1)NEREHE (B ko)
X % 6 F E 5 & & X R R HA L
r @ N E 153 170 89.8%
@R KE 5,927 6,220 95.3%
T @ KA KXKZE - -
T & #§ % - -
E — L K & - -
i F A ZE - 42
& £t 6,080 6,433 94.5%
(2)FfhiLE (BA{3: %)
X 4 6 & G 5 & @E
1 % 2 % EF5nE | REN 1 % 2 % Z50E | RESN
T & I = 82.3 7.1 10.6 92.1 2.2 5.7
@K E 51.4 26.3 22.3 62.9 20.4 16.7
B KM K ZE - - - - - ~
I - - - - - -
E — JIL K % - - - - - -
2 RIENREBRERVERLE (BT ko)
X % fn e 4 REH=E|] 1 F 2 F FHNLE | RN =R
T & N EpEBEHIDS 144 87.5% 2.2% 10.3%
aARaL¥ 1 - - 100.0%
TN 8 - 97.9% 2.1%
T &K K ZE|TPAIN—R/ 5,921 51.4% 26.2% 22.3%
RIVART7AI1N— 7 - 86.2% 13.8%
TN - - - -
T @B KA KXKZE -
T & #B§ = -
E — JIL K =
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“ SHIEEZDREHEIL 12,580 F TRIERAILE 75.1 %IZi->TULVET,

EE/PRRKED1EFLEL 84.2 % T, SIERBICHER 3.2 RAUMELE>TWET, “

(1DNEREHE (B b))
X & 6 F E 5 & & XTI R HA L
T & N E 669 550 121.7%
T B KE 11,574 15,865 73.0%
T @ KA KXKZE - - -
E &8 & = - - -
E — L K & - - -
B F B = 337 337 100.1%
a it 12,580 16,752 75.1%
(2)FfhiLE (BA{3: %)
X 4 6 F E 5 & E
1 % 2 % EF5 L | RS 1 % 2 & 5L | FHiEs
T & N E 99.2 - 0.8 96.1 2.7 1.1
BN KE 84.2 - 15.8 87.4 0.9 11.8
T B KA KXKZE - - - - - -
T &8 KR =% - - - - - -
E — JIL K % - - - - - -
2 RIENREBRERVERLE (B b))
X % fn e 4 REH=E|] 1 F 2 F FHNLE | RN =R
T & I ZEpHBEID 418| 100.0% - -
BEHEXRIE 250 97.9% - 2.1%
TN 0| 100.0% - -
L & /KK E|I7AN—R/D 9,234 84.1% - 15.9%
[EHh5FHH 2,340 84.8% - 15.2%
TN = - - -
T B KHKE -
T &8 & =% -
E — JIL K =
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